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Rainfall of 15 days (in mm) are given below. Find the mode rainfall.
11 12 15 14 55 9 12 7 11 9 10 8 9 9

(i) 11mm (i) 9mm (iii) 10mm (iv) 8mm (v) 7mm

Heights of 15 plants (in cm) are given below. Find the median height.
94 89 50 66 64 79 59 75 72 50 100 60 89 84 57

(i) 70cm (ii) 74cm (iii) 72cm (iv) 71cm (v) 73cm

. Find the mean of first 10 whole numbers.

(i) L (ii) ! (iii) 1 (iv) 5 (v) 2
i) — (i) = (i) — (v v) —
4 2 2 2
. Which of the following are true?

a) The number of times a particular observation occurs is called its frequency.

b) Each numerical figure in a data set is called an observation.

c) The true lower limit of the exclusive form class interval 40 - 50 is 40.

d) The true lower limit of the inclusive form class interval 40 - 50 is 40.

e) The difference between the true upper limit and true lower limit is called the class mark.

(i) {d,a} (i) {d,e,c} (i) {ab,c} (iv) {d,a,b} (v) {eb}

. The class boundaries of 40 - 44 which is in inclusive form are

(i) 39-45 (ii) 40-44 (iii) 39.5-44.5 (iv) 39.5-45 (v) 39-44.5

The class mark of the class with frequency x is

Class-Interval | Frequency
10-15 21
16 - 21 25
22 -27 29
28 - 33 X
34 -39 11

(i) 63 (i) 121 (iii) ol (iv) 29 (v) 31
2 4 2 2



7. Heights of 188 students (in cm) are given below. Identify the class interval table for the given histogram.

No, of students

b

128.5[134.5[140.5

1465

15251585

164.5/1705/1765] |

(i)

(ii)

(iii)

(iv)

(v)

Height (in

cm)

—

Height (in cm)

129-134

135 - 140

141 - 146

147 - 152

153 -158

159 - 164

165-170

171-176

No. of students

35

17

8

7

44

7

25

45

Height (in cm)

129-134

135 - 140

141 - 146

147 - 152

153 -158

159 - 164

165-170

171-176

No. of students

35

17

8

7

47

7

25

45

Height (in cm)

129-134

135-140

141 - 146

147 - 152

153 -158

159 - 164

165-170

171-176

No. of students

35

45

8

7

44

7

25

17

Height (in cm)

129-134

135 -140

141 - 146

147 - 152

153 -158

159 - 164

165-170

171-176

No. of students

35

17

7

8

44

7

25

45

Height (in cm)

129-134

135 - 140

141 - 146

147 - 152

153 -158

159 - 164

165-170

171-176

No. of students

35

17

11

7

44

7

25

45




Identify the cumulative frequency of the given grouped data.

class interval |45 -55|55-65|65-75|75-85|85-95|95-105
frequency 10 21 5 7 19 11
class interval | Cumulative Frequency class interval | Cumulative Frequency
45 - 55 10 45 - 55 10
55 - 65 21 55 - 65 15
(i) 65-75 26 (ii) 65 - 75 36
75 - 85 33 75 - 85 43
85-95 52 85 - 95 62
95 - 105 73 95 -105 73
class interval | Cumulative Frequency class interval | Cumulative Frequency
45 - 55 10 45 - 55 10
55 - 65 31 55 - 65 31
(iii) 65 - 75 39 (iv) 65 - 75 36
75 - 85 46 75 - 85 43
85 - 95 65 85 - 95 62
95 - 105 76 95 -105 73
class interval | Cumulative Frequency
45 - 55 10
55 - 65 31
(v) 65-75 36
75 - 85 39
85-95 58
95 - 105 69

Rainfall of 15 days are given below. Find the median.

Rainfall (in mm) |5/6|8(9(12(13(14 |15
No. of days 1/1/2(3(3|1|3 |1
(i) 12mm (ii) 10mm (iii)

13mm (iv) 11mm (v) 14mm




10. Heights of 233 students (in cm) are given below. Identify the class interval table for the given histogram.

11.

Y

No, of students

7126 | 134 | 142 | 150 | 158 | 166 | 174 |

(i)

(if)

(iii)

(iv)

(v)

Height (in cm) s——p
Height (in cm) [126 - 134|134 - 142|142 -150|150- 158|158 - 166|166 - 174
No. of students 50 35 36 24 43 50
Height (in cm) |126 - 134|134 - 142|142 -150|150- 158|158 -166|166-174
No. of students 50 35 34 19 43 50
Height (in cm) (126 - 134|134 -142|142 -150|150- 158|158 - 166|166 - 174
No. of students 50 35 36 19 43 50
Height (in cm) |126 - 134|134 - 142|142 - 150|150 - 158|158 - 166|166 -174
No. of students 50 36 35 19 43 50
Height (incm) (126 - 134|134 -142|142-150|150-158|158- 166|166 - 174
No. of students 50 50 36 19 43 35

Ages of 13 students (in years) are given below. Find the median age.
11 11 15 10 14 12 15 11 13 10 10 11 10

(i) 13years (ii) 12years (iii) 9years (iv) 1lOyears (v) 1llyears




The weights (in gm) of 17 fruits are as follows. Form the grouped frequency tablein exclusive form

12. by taking class size40.

246 334 302 244 371 303 209 386 230 227 317 350 340 235 252 350 369

(i)

(ii)

(iii)

(iv)

(v)

Weight (in gm) | 209 - 249|249 - 289|289 - 329|329 - 369|369 - 409
No. of Fruits 6 3 3 4 1
Weight (in gm) | 209 - 249|249 - 289|289 - 329|329 - 369|369 - 409
No. of Fruits 6 1 3 4 3
Weight (in gm) | 209 - 249|249 - 289|289 - 329|329 - 369|369 - 409
No. of Fruits 6 3 3 4 3
Weight (in gm) | 209 - 249|249 - 289|289 - 329|329 - 369|369 - 409
No. of Fruits 6 1 8 4 3
Weight (in gm) | 209 - 249|249 - 289|289 - 329|329 - 369|369 - 409
No. of Fruits 6 3 1 4 3

13. If the upper and lower limit of class interval are 32 and 29 respectively, then the class interval is

(i) 29.5-31.5 (ii) 29-32.5 (iii) 28.5-32 (iv) 28.5-32.5 (v) 29-32

14. Convert the exclusive form of the class interval 15.5 - 18.5 to inclusive form

(i) 16.5-17.5 (ii) 15.5-18.5 (iii) 16-18.5 (iv) 16-18 (v) 15.5-18

The weights (in gm) of 20 fruits are as follows. Form the grouped frequency tablein inclusive form
by taking class size50.
399 286 395 254 332 379 343 247 294 250 376 331 203 369 360 299 242 369 292 241

15.

(i Weight (in gm) | 203 - 252|253 - 302|303 - 352|353 - 402
i
No. of Fruits 7 5 3 5

(i) Weight (in gm) | 203 - 252 (253 - 302|303 - 352|353 - 402
ii

No. of Fruits 5 2 3 7
(i) Weight (in gm) | 203 - 252|253 - 302|303 - 352|353 - 402
iii

No. of Fruits 5 5 3 7
(iv) Weight (in gm) | 203 - 252 (253 - 302|303 - 352|353 - 402
v No. of Fruits 5 3 5 7
W) Weight (in gm) | 203 - 252|253 - 302|303 - 352|353 - 402
Y,

No. of Fruits 5 5 6 7




16. Scores of 184 students are given below. Identify the class interval table for the given histogram.

17.

18.

19.

Ne, of students

(i)

(if)

(iii)

(iv)

(v)

If the sample data with range 50 has to be divided into 8 class intervals, then the length of the class is

Y
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|
|
----- 90
|
|
_____ lgg
..... 7
|
|
----- 60
|
----- 50
|
_ 0
|
|
----- 30
|
|
----- 20
|
|
----- 10
5]
88.5 [94.5 100.5/106.5{1125/1185124.5{130.5 |
i3 A1 G A 1) A a1 A B
SCOME sty
Score 89-94|/95-100/101-106/107-112|113-118|119-124|125-130
No. of students 32 26 35 37 12 12 30
Score 89-94(95-100|101-106|107-112|113-118|119-124|125-130
No. of students 32 30 35 37 12 12 26
Score 89-94/95-100|101-106(107-112(113-118(119-124|125-130
No. of students 32 26 35 34 12 12 30
Score 89-94(95-100|101-106|107-112|113-118|119-124|125-130
No. of students 32 35 26 37 12 12 30
Score 89-94|/95-100/101-106/107-112|113-118|119-124|125-130
No. of students 32 26 30 37 12 12 30

(i) 5 (i) 6 (ii) 10 (iv) 7 (v) 8

Heights of 20 plants are given below. Find the median.

He

ight (in cm) | 57

61

63

64

67|74

75|81|85

94

No. of plants

1

2

3|1

2|2

11413

1

(i) 76cm (ii) 73cm (iii) 75cm (iv) 74cm (v) 72cm

The class marks of a frequency distribution are15.5, 23.5, 31.5, 39.5.
Find the class size and class intervalsin inclusive form

(i) 8;12-19,20-27,28-35,36-43

(iv) 8;11-18,19-26,27-34,35-42 (v) 8;11-19,19-27,27-35,35-43

(i) 7;12-19,19-26,26-33,33-40 (iii)) 8;13-20,21-28,29-36,37-44




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.

Y

No. of Patients
s
[==]

S62 L6466 1 68 T0 T2l 740

Age (in years) s——ap

Age (in years) |62 -64|64-66(66-68(68-70/70-72(72-74

i
(0 No. of Patients 32 18 22 49 30 46

Age (in years) (62 -64|64-66|66-68|68-70|(70-72|72-74
No. of Patients 32 27 18 49 30 46

(if)

Age (in years) (62 -64|64-66|66-68|68-70(70-72|72-74

iii
(i) No. of Patients 32 18 27 49 30 46

Age (in years) [62-64|64-66|66-68|68-70(70-72(72-74
No. of Patients 32 18 27 51 30 46

(iv)

Age (in years) |62 -64|64-66(66-68|(68-70/70-72|72-74

V) I'No. of Patients| 32 46 27 49 30 18

Given class interval table, find the sum of frequencies.
Class-Interval (12 - 22|22 -32|32-42|42-52|52-62(62-72
Frequency 17 14 25 10 9 6

(i) 83 (ii) 82 (iii) 78 (iv) 80 (v) 81

Scores of 12 students are given below. Find the mean score.
87 75 89 82 77 71 80 88 74 86 73 73

O 2y 20 iy 22w 22w 22
[ 12 1 12 1 12 v 4 \ 3

If the mean of 6samples is25,
what is the new mean if each number is multiplied by 4 .

(i) 100 (ii) 103 (iii) 101 (iv) 98 (v) 99



24.

25.

Identify the cumulative frequency of the given grouped data.

class interval |14 - 21|22 -29(30-37(38-45|46-53|54-61
frequency 5 5 7 14 6 11
class interval | Cumulative Frequency class interval | Cumulative Frequency
14 - 21 5 14 - 21 5
22-29 10 22 -29 10
(i) 30 -37 17 (ii) 30 - 37 13
38 -45 31 38-45 27
46 - 53 37 46 - 53 33
54 - 61 48 54 - 61 44
class interval | Cumulative Frequency class interval | Cumulative Frequency
14 - 21 5 14 - 21 5
22-29 10 22 -29 12
(iii) 30 -37 17 (iv) 30 - 37 17
38 -45 36 38-45 31
46 - 53 42 46 - 53 37
54 - 61 53 54 - 61 48
class interval | Cumulative Frequency
14 -21 5
22-29 16
(v) 30 -37 23
38 -45 37
46 - 53 43
54 - 61 48

Weights of 31 students are given below. Find the mode.

Weight (in kg) |40

42

45

47|48

51

52

54

55

No. of students | 4

4

3

6

2

2

3

2

5

(i) 45kg (i) 47kg (i) 48kg (iv) 49kg (v) 46kg




Assignment Key

1) (ii) 2) (iii) 3) (v) 4) (iii) 5) (iii) 6) (iii)
7) (i) 8) (iv) 9) (i) 10) (iii) 11) (v) 12) (ii)
13) (v) 14) (iv) 15) (iii) 16) (i) 17) (iv) 18) (iv)
19) (i) 20) (iii) 21) (v) 22) (iii) 23) (i) 24) (i)
25) (i)
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